I B % % an & mewws -

L Dr. Nabeel Tawalbeh
nestion # | QL% | Q2@3) Q3(5) | Q4@ | Q5(6) [ Q6(8) | Q7 (5) Q8 () |
[ Grade: b v 7 = o I D ' S
f

Question # 1 (8 points)

For the circuit shown below,

Show Your Calculations

use voltage and current dividers to calculate

: the voltage vi. V) - ?_ Lf v \Y
b. | the voltage v2. V2= 5 . V
c. | the voltage vi. Vai= 5 \%
d. | the current i1. = 3 A o A
the current i2. 2= 9 N A
f. | the current 7s. i3= \ A P A
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Find 2,
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Show Your Calculations

o ‘o
I the Circujy shown below
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Show Your Calculations

Question 3 (s points)

. e
For the circuit shown below, find
a. | the current /, I= -0 .J_/A" A
the power absorbed by the 4-Q i > I W
B, resistor. Py O ';é_f,-- Gbl‘-‘*fbf“‘
o th:.powcr absorbed by the 6-Q Pan= |0 OM “Tabeorbad W
resistor, ) —
the power generated or absorbed ¢ W= — i b'c- i;ef:l sl = ’Jnéfﬁ:éﬂ S w
d. by the 3-V voltage source., ¥ o .6 s  BUTCT
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e | the power generated or absorbed Pv= |z i absorbed @_ W
by the 5-V voltage source. =
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Question 4 (8 points)

Show Your Calculations

For the cireui "
1t shown below, the voltage across the resistance R is Vo =4V, find

a. | the current /y supplied by the 20-V voltage source, L= v A i
b. | the current 1, flowing through the 6-Q resistor, 2= O 66T 'K/

the resistance R. - . R | 2 NS L
d. | the equivalent resistance seen by the voltage source. | Reg= 'QP U/SL’ &
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/ Question # 5 (6 =
y uestion # 5 (6 points : ' )
; s) Show Your Calculations ﬁ /
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a. | Find the current ir due to the 6-V voltage :.‘n-urcc‘ iy = Z ?T A
b. | Find the current i3 due to the 2-A current source. T: an 7" A
c. | Find the total current i due 10 botl sOurces, i= | Ytoeo = Y A
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/ Question # 6 (8 points)
For the circuit shown below use mesh current analysis to find the mesh currents 1y, 2 and 15,

,

B T
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Question # 7 (5 points)

For the circuit shown below, use node voltage analysis to find the node voltages Va and Vs.

. |ﬁ“) {'QS‘_

Va v
8 | Va= 1. &4 i Vs ST LR 0
b. | Vs = 18/ y y o e
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4 son # 8 (7 points) >
.7 ton
v QU e
/ » circuit s below 2
for the circuit shown below, find .
7 — : )
.| the load resistance Ry for maximum power transfer Ry = 5 L~ !1—‘
f— H il v . ' -
the Thc\lenm equivalent voltage Vi, = 2 5 P
the maximum power absorbed by the load ;.. Py = '?_1 A W
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